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I bqUUnhsLbf , ur14 prlntrl 79489,7 78671,8 -817,9

1 IlhururLrutr ru ulnrlhnhq 75717,l t > /  t / , 1 0,0

2 fh-umrftrurturh u nurLurhturrhq 0,0

itdunnrlh Eurnuuntornrhhhnhq 0,0

.{.urn&urL urr nrratntLhq 109,0 108,7 -0,3

5 Uuuruurnhrlurh h Lnrlnr-Lurl huilulldurptrhpfg 2140,1 1665,9 -474,2

6 lpurriu2lurphfrg 0,0
.7 Sfrburhuur\urb oqtrnr-pj nttrfr g 0,0

6 Ut1rnhrlLtnhtr {hpuphpnrl 2bnnhlttnhs t4M,6 1101,2 -343,4

9 b\ullnwrhhnht rlhnurrhnul zhnnhhhphq 0,0

10 Fublrh un\nuhq 0,0

n U11 h\urlnr-rnlrtpfg 78,9 78,9 0,0

il UUtuUbl, urp prlnul' 77683,7 752tt,7 -2472,0

il2fuuuur{urp&f qbntf npfg 64647,4 64228,4 -419,0

t , 1 rhpmu!urh llppnrplutr hunnr\ rfuL\utlupdtthp[ qbn{ 0,0

1,2 qupqbuupiluL qbn{ 200,0 -200,0

Qhnmgilurh qbnr{ 4200,0 3702,8 -497,2

J hr tburnuthhnqhurrh qbnrl 1500,0 1139,8 -360,2

Qnr.fnu-Untnqnt qbnr] r50,0 138,1 1 1 , 9

5 tlneuhurtrnr-Bturh qbil.l 100,8 100,8 0,0

6 .lluurunurhntnrurh qbnil 20,0 10,0 - 10,0

7 h qbnil, urrn Bilnl.ri' 150,0 136,1 -r3,9
a 1 ruduLnpqul$r {dup 60,7 57,6 -3.1

7,2 mqtu{drup t7,3 6,5 -10,8

$rutphhu\uq .! 72,0 72,0 0,0
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o ShurhuurLurh urr:rnurhphhnh obnrl 600,0 s96,r -3,9
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18.1 ulrhunmlg uurugrlub r444,6 1 101,2 -343.4
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21,2 h.uunpuqpnrpluh qbnrl 100,0 3.0 -97,0
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I qupqhururpmrl r$h*l[ r i'a13DBp 1730,0
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1 'tlhurtu\ruh qururqtpbg 75717,r 75717,1 0,0

2 Or-unufhur\ruh qpur\tnir\ut1hg 0,0

J .{,durpntl}r burnur3ntplnttrhhpfrg 0,0

4 .{urp&ur\ur1ntp1 nttr}r g 130,8 130,4 -0,4
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7 Sfrtrurhuur\urtr oqhntp3nr"hlrg 0,0
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9 lhpfnnnpur\urtr qurpurphplr g 0,0
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4 lprfnr-r1-\n1nu1nt qbnrl 150,0 133,1 -r6,9

5 lU4puhruhntpSurh qbnr{ 100,8 151,2 50,4
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1 1 Upurqurilur2 urnurp\urhhptt qb"rl 50,0 0,0 -50,0

12 lUtrtrafr qbnq 0,0

13 Spurhuqnpurlt qb",l 0,0

l4 ehpurgb\ rlhpurhnpnqdurtr qbntl 990,0 950,9 -39,1

15 Uquruurp\rfurh h \nrfnthurl hurdur{durptrhp}r qbnr{ 2t40,7 1599,8 -540,3
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18 *urp\urlirh qurpunnt[npntplnttrhhp]r qbnr], ur14 prlntil 25,2 23,2 -2,0

18,1 zurhmpurhurpqlt Sb".l 3,4 3,4 0,0

18,2 UU2-b qbntl 21 ,8 19,8 -2,0
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20,1 ahnranul hurrurunurnntplurtr qbn{,ntuntdburturh htntBhnh qbn{ 170,0 68,5 -101,5

20,2 h.uurnnurgnntratrutr qbill,turanhnh rl hpurulururpuruullurh gbnr] 139,0 136,0 -3,0

20,3 Urluurqnh nurdurhnnnurgnntBturh qbnrl 100,0 80,0 -20,0

20,4 lbntdhhnh ttunqurilnnnqh burnurtntBlutr qbnrl 120,0 120,0 0,0
1 n < Zurururlrh turhrlurh burnurtnrBturh qbnrl 150,0 150.0 0,0

p) \urqlrunut *l+ prlnttf, 1695,0 1663,8 -31,2

I Zinftrur\urtr rilr2nghhpb &hnp phprlurh qbntl, ru14 p{nui' 1695,0 1663,8 -3r,2

1 .1 urzurh hnururhurh gnrtp 0,0

1,2 hurdur\upq2u1ft ublubf\ur 400,0 393,8 -6,2

l ? runmueplu-ullnhuru\urtr qmlp 990,0 965,0 -25,0

I ' { qnpblpbhp 300,0 300,0 0,0

1,5 qhpp 5,0 5,0 0,0

2 Zinftrur\urtr rifr2ngLhpb hfrrftrur\rutr r{tpurhnpnqntil, ru14 prlnul 0,0 0,0 0,0

) 1 unlpurg{ub qnqp} (2hLpf) 0,0
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